
 
 

Installation Instructions for 57002 
2010-11 Camaro SS Cold Air Intake 
 

 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

SIDE VIEW 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

TOP VIEW 

PARTS LIST 
1 Filter Box 1 4” x 3” Sleeve 1 3/8” x 17” Breather Hose 
1 Filter Box Adapter 4 1/4”-20 Bolts 1 MAF Sensor Gasket 
1 Air Duct 6 1/4” Washers 2 SS 4mm x 10mm Bolts 
1 Ram Filter w/Clamp 3 1/4” Lock Washers 1 Bracket 
2 # 064 Clamps 1 1/4”-20 Nut 1 JEGS Equipped Emblem 
2 # 072 Clamps 2 1/4”-20 Nylon Lock Nuts   
1 4-1/2” x 3” Hump Hose 1 1/2” NPT Straight Fittings   

                                         1-800-345-4545   jegs.com 


